A particle accelerates uniformly from a

speed of 56 cm/s to 87 cm/s in 4
seconds and thereafter moves at a

constant speed of 87 cm/s for an
additional 9 seconds. The average

speed (in cm/s) over this total time
interval is:

Select one:
() 82

0 9]
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A particle moves along the x-axis. It
position is given by the equation

x =11 + 12 t - 4tA2 with x in meters an
in seconds. Its position (in meter) w
it changes direction Is:

Select one:
20.0

15.3
2.56
17.6
22.6
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An object moves along the
x-axis according to the
equation:

X(t) = (2tA3 +t-1) m,
where tin seconds. The
average acceleration
between t=1sand t=4s

(in m/sA2) is:

Select one:
24

10
e 20
12
16
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Select one;
e 12

20
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A particle moves along the x-axis. Its
position is given by the equation
x =6 +71t- 4tA2 with x in meters and t

in seconds. Its position (in meter) when
it changes direction is:

Select one:
® 2563

() 5.56
) 13.
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An object moves along the
x-axis according to the
equation:

X(t) = (2tA3+t-1)m,
where tin seconds. The
average acceleration
betweent=lsandt=3s

(in m/sA2) is:

Select one:
20

12
16
24
10
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An abject moves along the v axis acoonding 1o ths squation
X(t) = (21A3 ¢« 1 1) m whare 1 in seconds Thee cavsrogpe O calaration beatwaen t= | g ogrel =5 -

Linm/eA2) s

Sel@aCt O

O
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X-axis according to the
equation:

X(t) = (2tA3+t-1)m,
where tin seconds. The
average acceleration
betweent=1sand t=5s

(in m/sA2) is:

Select one:
24

16
10
12

20
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A lift is going up. The variation in the speed of the
lift is as given in the graph. What will be the
average velocity of the lift ?

a)3m/s

b)2.88 m/s s O

c)3.24 m/s @9t

d)l m/s 3 35b

e)none F: :
5 .
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An object moves along the
x-axis according to the
equation:

X(t) = (2tA3 +t-1) m,
where t in seconds. The
average acceleration
betweent=1sand t=3 s

(in m/sA2) is:

Select one:
20

10
24
12
16
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An object starts motion from rest and from the
origin and moves along the x axis with constant

acceleration of 4 m/s. Its average velocity as it
moves fromx=2mtox=8mis:

Select one:
2 m/s

& m/s
5 m/s
1 m/s

3Im/s
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A plane travelling north at 250 m/s turns and then
travels south at 250 m/s.The change in its velocity
IS

Select one:
500 m/s north

500 m/s south
Zero

250 m/s south
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A particle accelerates uniformly from a
speed of 65 cm/s to 88 cm/sin 9
seconds and thereafter moves ata
~onstant speed of 88 cm/s for an
additional 7 seconds. The average
speed (in cm/s) over this total time

nterval is:

Select one:
82

65
17

32
44
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An object moves along the
x-axis according to the
equation:

X(t) = (2tA3 +t-1) m,
where tin seconds. The
average acceleration
betweent=1sand t=5s

(in m/sA2) is:

Select one:
20

24
® 16
10
12
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An object moves along the
X-axis according to the
‘equation

X(t) = (2tA3 +t-1) m,
where tin seconds. The
average acceleration
betweent=1sandt=2s

is (in m/sA2)

Sl Ll asl yzs]
20

12 @
24
16
10
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A particle accelerates uniformly fri
speed of 45 cm/sto 75 cm/sin 5
seconds and thereafter moves at
constant speed of 75 cm/s for an
additional 5 seconds. The averag
speed (in cm/s) over this total tim
interval is:

Select one;
68

78
® 18
34
51
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A particle moves along the x-axis.
position is given by the equation
X =11 +12 t - 4tA2 with x in meters «
in seconds. Its position (in meter)
it changes direction is:

Select one:
20.0

15.3
2.56
17.6
22.6
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A person walks in a distance x
northward, turns around and walks a

distance 7.00x southward. If the total
displacement of the person from his
“Starting position is 300 m south. What
* ?was the total distance walked

(3085 2)

800

400

600

200
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